YR2TEERERY 2 ZP IV I)BFERLFI15B~1TROBERT O v U FiERRR

=B BrashyE)—=035T(6291Yards Par 72)
HAF . 78218(N)
TYEU—: 100%
HiZ 99
V) &5 g 237 V) &5 g 237 V) &5 g 237
1 IR 12 wsymosst 69 (35.34) 2B =i mnaFTsEs1 18 (38.40) Bk BB pEsEeTs1 88 (43, 45)
2 BB R s sesxyzme 70 (36.34) 4y 2 MESESI 78 (37.41) Bl BHF  mekceumEss 88 (42, 46)
FER BAZE  msvowzzat 10 (35.35) 43 HH B BEERE1 79 (42.37) =) E BssES1 88  (41.47)
4 BE B mErs 73 (38.35) RE BE  @EsEs1 79 40,39 85 =N BE  pmsmonst 89 (44, 45)
)l BE FExEs 73 (38.35) RN KD BaPrFs2 79 (40, 39) 86 THIt IDBR  smeasamss 90 (45, 45)
T 5 BEst 73 (37.36) IVE B BeExEs3 79 (40,39) REE SR FesEs1 90 (45, 45)
TBX 2B  FExEs1 730 (36.37) WHB EFEER  mersamss 79 (40, 39) BlS) kR  =mmesxzmz 90 (45, 45)
F= 15 wEApaEEs 13 (36.37) Rt IBIE WEsEs1 79 (39.40) 89 2| FIRF szmurss 91 (48.43)
I8 BE @rsEs3 73 (35.38) 49 AER ER 52 80  (41.39) 90 RS EBINL mersamss 92 (47.45)
10 708 88F  exvzuzzaz 74 (37.37) INR BE  igess2 80 (41.39) B XN meils2 92 (45,47
11 89K B  esz@ess2 15 (39.36) ik BEX psERE1 80 (40, 40) 92 B0 BHTF ommmesst 93 (46.47)
AN B mEs@EOTE2 75 (39.36) EI B4 pnERE1 80 (39.41) 93 M 5 sspaams—me 94 (47.47)
INB KE  wsymeuse 75 (38.37) AN HiEd BIEEES1 80 (39, 41) WA BT  oxxez=s1 94 47.47)
=5 I EESES3 75 (37.39) IRECIBER  mEsERE1 80 (39.41) o5 HOEE mEExES1 97 48,49
BIK BE  sssxsuzss 15 (35.40) REF 058 wsewrswmse 80 (38.42) 96 P EE TFExss3 104 (58.46)
16 A BBS  esvzwzzme 16 (40.36) 56 AU BIE HEEERS 81  (44.37) 97 NI BB =BriBms3 116 (59.57)
KB ¥R  mwersamst 16 (39.37) N R FExss 81  (42.39) g BB ) sEzxEs2
DR KD mersamse 76 (39.37) ik 85 #8%—33 81 (42.39) i Pl B8 R IEES
0B FH wnoTsEst 76 (39.37) Y B mxsEss 81 (41,40 xip KR BDE BEERS
FEED e 76 (38.38) ME fxR  #Eirs 81 (40. 41)
i B FRERASNEE 76 (38. 38) 61 ol =&EH axsFTEs3 82 (42. 40)
Pk B0 FuEyes 76 (38, 38) BEith BB wervwmaree 82 (42. 40)
REE FIF H—RE1 76 (38.38) FRE 2= BEoLzzET 82 (41.41)
B = LRYvzE1 76 (37.39) 64 TN HIH FEFES 83  (45.38)
N0fE BLREE s5-onemmse 76 (37. 39) 7agy BES1 83 (44, 39)
ME T8 @His3 76 (37.39) ERAK Blx #)IIEs1 83 (43,40
FE# BaozLzzs1 16 (37.39) BlF 328 mpsEms1 83 (42.41)
FEIN = FEF=S 76 (37. 39) = N = e 83 (42, 41)
hS s 76 (36, 40) 2E U7 mrEesms2 83 (41.42)
B0 B BExEE3 76 (35.41) 70 meE X8 OrEEEs2 84 (44.40)
31 INIAYH  #EEss 77 (39.38) N2 %= Torars-s2 84 (44,40)
- ME TE BB HFEEE oeaits1 84 (44,40
NE ExX wExEs3 77 (39.38) ik DA smmesrnms 84 (44, 40)
SN BEE TFE¥ss 77 (39.38) PE THER FExss 84  (43.41)
34 MR EE  BEILS 78 41.37) WA B gssmouse 84 (42,42
BE %8 FExss 78 41.37) 76 B AN srvzizzee 85 (44.41)
1B BE  ss-sneems 78 (41,37) ERRK F;1HE sszEers1 85 (42, 43)
AW BB scavazrase 78 (40.38) Ml BE oriz=ese 85 (41.44)
VMK FE MeAwdemymz 78 (40, 38) 79 BOR BXE  BnES3 86 (40, 46)
ERAE EXE waymeust 18 (40, 38) A0 IC72 EnrEessE1 86 (40, 46)
BE KR wervnmarss 78 (40, 38) 81 =B BT wmiss 88 (45. 43)



	ランク

